Brass Compression Fittings / Complementary Fittings

01 1 0..40 Steel Nut 01 22 Barb Connector for Hose

Zinc-plated steel Brass

@D1 @D3 @T ©D2

‘:5{-?.“:_}{ * oF

o ¢ 9 F L Ky gp1 @p2 b3 [H L L1 0Tmin Kg
4 M&! 0110040040 10 11 0004 4 4 6 01220404 375 26, 3 0004
6 MO 011006 00 40 1812 0008 , 4 6 01220604 375225 3 0005
8  Mix1 0110080040 14135 0008 7 9 01220607 375 25 6 0007
10 M16x15 0110100040 19 16 0018 6 8 01220806 0 25 5 0007
12 Mi815 0110120040 2 165 0026 8 7 9 01220807 0 25 6 0008
16 M2215 011016 00 40 7 18 0042 10 125 01220810 0 25 9 0012
18 M24x15 0110180040 30 19 0057 o 19 0221007 43 25 6.4 00l
22 M30x15 01102200 40 3% 215 0084 10 125 01221010 45 259 0014
, 10 125 01221210 8025 9 001
13 15 01221213 500 25 12 0018
13 15 01221413 595 12 0019
0110..60 Brass Long Nut 14
16 <185 01221416 605 38 15 0031
Brass 5 M5 0121513 50205 12 0019
- 16 185 01221516 605 38 15 0032
= 13 15, 01221613 535 295 12 0.021
<y, g.‘ 16 S ‘

o 16 185 01221616 6 38 15 002
<_! g 16 185 01221816 6 38 15 0031
19 215 01221819 6 38 18 0040

m ¢ [ FLoKg
, 16 185 (01222016 6 38 15 0034
4 M 0110040060 11 145 0007 9 215 WPl T
6 Mi0xi_ 0110060060 13 1750011 22 190215 01222219 64 38 18 0041
8  Mix1 011008 00 60 16 20 0018 PR | UYL 0 3 18 00
10 M16x15 0110100060 0 23 0032 % 7% 01222525 0 @m0

12 Mi8d5 0110120060 2 25 0038

0165 Barb Connector for Flexible Tubing
T @D2
ol
B II B

| {7 3 [
i
e gp1 gp2 gp3 [ L L1 @Tmin Kg

Brass

0110..70 Technical Polymer Nut-Olive

Technical polymer

10 bar 4 4 43 016504 06 30 15 2 0.002
oD ¢ E F L Kg 5 4 43 0165 05 06 30 15 2 0.003
4 43 0165 06 06 30 15 2 0.003
4 M8x! 0110 0400 70 g 13 0001
6 6.4 016506 08 30 15 4 0.004
6  Mi0x1 011006 00 70 115 0002 8 54 01650610 0 B s 0005
NB: polymer nut-olives should not be used on metal tubes.
6 64 0165 08 08 25 15 4 0.006
8 8 84 01650810 325 15 6 0.006
10 107 016508 12 375 20 8 0.009
8 84 01651010 3H5 15 6 0.008
10 10 107 01651012 405 20 8 0.010
12 127 01651014 405 20 8 0.012
12 10 107 01651212 40.5 20 8 0.011
12 127 01651214 405 20 10 0.013
14 12 127 01651414 25 20 10 0.015
15 13 137 01651516 25 20 1 0.015
16 13 137 01651616 44 20 11 0.018

—Parker 146



Brass Compression Fittings / Complementary Fittings

0126 Plug for Compression Fitting

0220..39 Hex Head Plug with Bi-Material Seal,
Male BSPP Thread

Brass
- x L Brass, zinc plated steel with NBR seal
Ly i
—
oo L Ky
4 01260400 10 0002 c & F G H Ky
6 0126 06 00 10 0.003 G1/8 022010 00 39 14 1465 0012
8 0126 08 00 115 0.006 G1/4 02201300 39 17 17 165 0.020
10 012610 00 130010 G3/8 022017 00 39 17 22 18 0025
12 012612 00 13 0014 G1/2 02202100 39 22 26 19 0042
14 012614 00 135 0020 G3/4 022027 00 39 22 32 100 0.059
18 0126 18 00 16 0.038 G1 0220 34 00 39 27 395 105 0,088
22 01262200 18 0.003 Plug with bi-material seal

The plug is used to blank off an outlet in a compression fitting, replacing the olive.

When an open outlet is required, simply dismantle and replace the plug with the tube olive,
reusing the nut.

The plug is also reusable.

0125 1ube End Plug for Compression Fitting

Bi-material washers part number 0139 can be found in sub-chapter “Adaptorsand Manifolds”.
Part Number with suffix 39, maximum allowable working pressure: 250 bar

0120 stud Standpipe, Male BSPT Thread

Brass
c TMT
Brass
a‘tm - -
o] i \ ﬁ\
E i
B :
J w S c 'ﬁ T@
oD F L L1 Kg St 7
4 M8x1 0125 04 00 10 12 8 0005 ) c E F L L Kg
6 M10x1 0125 06 00 11 435 95 0008
8 V12 012508 00 14 14 9 0013 4 R1/8 012004 10 1255 14 0007
10 Mi6x15 01251000 718 1 00 jp Rljg_ 01200510 26 15 boor
This plug enables unused tubes to be blanked off. 6 R1/8 012006 10 m 265 15 0008
The male thread on the plug has the same pitch as the female thread on the sleeve nut of a R1/4 01200613 14 31 15 0015
standard Parker Legris fitting.
Therefore the plug screwed into the sleeve nut blanks off the.tube. R1/8 012008 10 285 17 0.009
To reopen the passage, simply unscrew the plug and fit the required coupler. 8 R1/4 01200813 1433 17 0016
No further treatment of the tube is required. -
R3/8 012008 17 17335 17 0.020
0220 ) R1/4 01201013 14 3 20 0017
Hex Head Plug, Male BSPP and Metric 10 RY8 01201017 7 35 20 002
Thread R1/2 01201021 2 4120 0039
. R1/4 01201213 14 3 20 0017
Brass, technical polymer
OF OF 12 R38 01201217 17 365 20 0022
& 4 L Ht% HI? 26 R12 01201221 2 41 20 0040
A = € R3/8 01201417 17 38 215 0023
M5-1/8 144172 14
R1/2 012014 21 22 425 215 0042
15 R3/8 01201517 17 38 215 0023
c & F G H Ky R12 01201521 2 05 25 0040
M5x0.8 0220 19 00 8 8§ 5 0002 1% R3/8 012016 17 17395 23 0024
G1/8 102201000 14 1475 0011 R1/2 012016 21 2 44 23 0042
G1/4* 022013 00 17 17 75 0020 18 R1/2 012018 21 22 445 235 0.042
G3/8 022017 00 17 22 85 0024 R3/4 0120 18 27 27 4715 235 0.070
G1/2 02202100 22 27 10 0041 20 R3/4 01202027 2149 25 0070
Thread with pre-assembled sealing washer R3/4 012022 27 27 485 255 0.067
M5: with screwdriver slot for tightening 22
Maximum allowable working pressure = 20 bar Rl 012022 34 36 525 265 0117
Conforms to BNA 229 (with the exception of M5 model), BSPP thread, ISO ISO 228-1,
Parallel metric thread, ISO NFE 03-054. 28 il 012028 34 36 o 30 0140
Assembly: Barb Connectors
Our barb connectors 0122 and 0165 are designed to be used with different types
of hose. They are secured using the nut and olive provided with the fitting.
Nut  + Olive + Barb Connector
Allegris 147 RectusH

Fittings

Compression Fittings

Brass Compression Fittings



Brass Compression Fittings / Complementary Fittings

0112 sieeve Nut for Compression Fitting, Male 0168..39 Reducer, with Bi-Material Seal, Male
Metric Thread BSPP Thread/Female BSPP and
Metric Thread
Brass ."

7 4
p ¢

Brass, zinc plated steel with NBR seal

c2
——

N, =
i i =
s

[/} E F L Kg
4 M8 01120400 7 10 13 0005
5  Mioxl 01120500 75 11 135 0007 c1 G2 E E F H Ky
6 Mi0xi_ 01120600 75 11 135 0006 GI/8 M5x08 0168101939 8 14 45 0009
8 Mi2x_ 01120800 § 13 15 0008 Gi/A M5x08 0168131939 § 7 5 0018
10 M16x1.5 01121000 n_1r 18 008 Gl/4 G1/8 0168131039 g W7 5 002
12 Migi5 01121200 n 1 1® oo G38 G138 0168171039 10 19 5 <000
.14 M20x15 01121400 . . " 2 1.8 0.026 638 G4 0168171339 019 50 0003
I:iﬁgp;osdt:itd\;v%sS;igrﬁgsroisaclﬁ\g'the tube to be fitted directly into the tapped port in a body G112 G1/3 0168211039 12 75 0053
For the corresponding drawings (cavity for Parker Legris olive), please consult us. G1/2 Gi/4 0168211339 12 24 75 0.044
G2 G3/8 0168211739 12 24 75 0031
0128..39 stud Standpipe with Bi-Material Seal, 634 Gi/4 0168271339 232 95 0100
Male BSPP Thread G3/4  G3/8° 0168271739 1232 95 0086
G3/4 AG1f2 0168272139 1232 95 0065

Brass, zinc plated steel with NBR seal Withbi-material seal. Bi-material washers part number0139 can be found in sub-chapter

“Adaptors and Manifolds”

0127 Brass Tube Support for Polymer Tubing

o ¢ E F H Ky Brass
G1/8 01280410 39 75 13 20° 0009
4 - ‘._L" oD2  @D1
Gi/4 0128041339 9 17 22 10015
6 G1/8 012806 10 39 75 13 21 0010 J !
G1/4 01280613 39 9 17 23 0016
G1/8 012808 10 39 5 13 23 0011 gD1 @D2 E L Kg
8 Gi/4 0128081339 9% 17 25 0017
4 2 01270400 11 0.001
G3/8 01280817 39 12 722 26 0033
0127 04 25 413 0.001
G1/4 0128101339 9 1 28 0018
4 27 01270427 11 0.001
10 G3/8 0128101739 12 227 29 0034
5 3 01270503 110,001
G1/2 0128102139 21 w27 30 0.049
5 3.3 01270500 115 1.000
G3/8 0128141739 12 722 305 0035
14 6 4 012706 00 115 0.001
G1/2 0128142139 2127 315 0049
8 55 0127 08 55 140,001
18 G1/2 0128182139 21271 335 0051 s 6 01270800 0001
G3/4 01281827 39 1432 345 008 :
10 7 01271007 18 0.001
G3/4 0128222739 14 32 365 0081
22 10 75 01271075 18 0.001
GI° 01282234 39 165 41 38 0123
10 8 01271000 18 0.002
28 G1 0128 28 3439 165 41 425 0147 ’ 0002
With bi-material seal. Bi-material washers.part number 0139 can be found in sub-chapter 12 8 01271208 J -
“Adaptors and Manifolds” 12 9 01271209 18 0.001
12 10 01271200 18 0.001
0151..39 Straight Male Orientable Adaptor, with M1 01271411 16 0.002
Bi-Material Seal, Male BSPP Thread 1412 01271400 18 0003
15 12 01271512 18 0.002
Brass, NBR, zinc plated steel with NBR seal 16 13 01271613 18 0.003
S CE—21=s 18 14 01271814 195 0.003
ol o 2216 01272216 210005
E L T This tube support guarantees good gripping, at high temperatures and pressures, by preventing
collapsing of the tube.
c B E Bl F F1 H Hl Ky
G1/8 0151101039 55 7 13 14 6 6.5 0017
G1/4 0151131339 7 85 17 19 65 9 0036
G3/8 0151171739 95 95 2 2 9 9 0056
G1/2 0151212139 105 105 27 27 10 10 0082
G3/4 0151272739 115 115 2 32 11 10 0122
G 0151343439 13 135 41 41 125 105 0217

With bi-material seal. Bi-material washers part number 0139 can be found in sub-chapter

“Adaptors and Manifolds”
—Darker 148



	-prevlecneho-sroubeni-mosaz-legris_10
	prehledovy-katalog-prevlecneho-sroubeni-mosaz-legris

	-prevlecneho-sroubeni-mosaz-legris_11
	prehledovy-katalog-prevlecneho-sroubeni-mosaz-legris

	-prevlecneho-sroubeni-mosaz-legris_12
	prehledovy-katalog-prevlecneho-sroubeni-mosaz-legris


